L—R155) iEER RE—E
(ESHEIRBOBELE, DU, R, RE, BIBEIHK)

* 6 L—A —fizik FEFPE (21:25)
ERES. 2ESY L—RI5HI AR
# 0. BF4. TR - x 25 ; Fiy
LERES ) ©® @ @ @ 6 ® g xE E #sE AW BE BEE LAY
Al 64 6 9 5 6 7 620 5 00 9.3 234 31.2 0| 3.41 3.487 3.46 4.90 3.559
2528 MN—#) 32 1 2 1 2 3 4 19 0 0 3.1 9.3 125 0| 341 3487 345 587  3.574
B-73 (MNGE) 0
(Zoft—#%)| 32 5 7 4 4 4 2 1 5 0 15.6 37.5 50.0/ 0| 3.43  3.506] 3.46 3.93  3.544
1 =il BER 0| (zofsci) 0
ne 23 01 3 0 2 1 7 9 0 0.0 4.3 17.3] 0| 3.42 3.482 3.47 6.43 3.561
ERizx 2588 RELE 3 0 0 0 0 2 0 1 0 O 0.0 0.0 0.0, 0| 3.44 3.498| 3.44 5.66 3.518
497% AR 9 0 0 2 3 1 0 1 2 O 0.0 0.0 22.2) 0| 3.47 3.505] 3.51 5.11 3.570
L5 i5 0 0 0 2 3 8 2 0 O 0.0 0.0 0.0 0| 3.41 3.468| 3.48 5.66 3.569
Al 11 0 0 2 2 0 4 3 0 O 0.0 0.0 18.1| 0 3.39 3.481| 3.43 5.36 3.512
2716 (MN—#) 10 0 0 2 2 0 3 3 0 0 0.0 0.0 2000 0/ 339 3481 342 530 3511
B-61 (MNG#)| 0
(ZOf—A%) 1 0 0 0 0 0 1 0 0 O 0.0 0.0 0.0/ 0 347 3.522| 347 6.00  3.522
A 25K Bk 10 (=ofteH) 0
ne 19 0 2 2 2 6 1 3 0 0.0 10.5 21.00 0| 3.39 3.489| 3.43 5.26 3.531
R 275 LI 4 0 1 0 0 1 0 1 1 0 0.0 250 250 O 3.41 3.471] 3.42 550 3.505
477% AR 49 1 3 6 91310 6 1 0 2.0 8.1 204/ 0| 3.35 3.469| 3.42 4.81 3.505
L5 16 0 2 2 1 5 6 0 0 O 0.0 12.5 25.00 0| 3.38 3.479| 3.41 4.68 3.506
ARiE 72 11 10 1311 610 9 2 0 152 29.1 47.2 0 3.34 3.421 3.40 3.93 3.479
2615 MN—#) 44 6 8 8 5 4 7 6 0 0 13.6 31.8 50.0/ 0| 3.34 3421 339 3.86  3.461
A-201 (MNG#)| 0
(zoft—#%)| 28 5 2 5 6 2 3 3 2 0 17.8 25.0 42.8/ 0| 337 3458 342 403  3.509
M HAE Sk 20 (zofte®)| o
ne 24 3 4 1 3 7 0 3 3 O 12.5 29.1 33.3 0| 3.36 3.424| 3.40 4.41 3.477
Bix 265 LI 7 0 0 2 2 0 2 0 10 0.0 0.0 285 0| 3.37 3.449 3.40 4.85 3.487
497% AR 10 1 0 2 0 1 0 4 2 O 10.0 10.0 30.00 0| 3.36 3.447| 3.38 5.60 3.479
L5 7 0 0 1 1 3 2 0 0 O 0.0 0.0 14.2) 0/ 3.40 3.469| 3.43 4.85 3.505
Al 10 2 0 0 1 0 1 2 4 0 20.0 20.0 20.0 Of3.38 3.484  3.44 5.80 3.525
3603 (MN—1%) 0 0 0 0 0 0 1 0 0 0.0 0.0 0.0/ 0/ 338 3.505 3.38 7.00  3.505
B-77 (MNGE) 0
oft—#%) 9 2 0 0 1 0 1 1 4 0 22.2 22.2 22.2| 0| 339 3484 345 566  3.527
N RTE £ 30 (eofte#)| o0
nmea 111 0 0 1 1 4 1 3 0 9.0 9.0 9.0/ 0| 3.34 3.422| 3.39 5.90 3.499
1L1B% 3658 FRERIG 7 0 0 O 0 0 2 3 2 O 0.0 0.0 0.0 0| 3.38 3.494| 3.40 7.00 3.521
23i% AR 21 2 4 3 3 4 2 3 0 O 9.5 28.5 42,8 1| 3.32 3.381) 3.36 4.00 3.472
L5 60 8 2 7 91314 5 2 0 13.3 16.6 28.3| 1| 3.33 3.410| 3.38 4.48 3.477
AR 82 714 916101214 0 O 85 25.6 36.5 0] 3.34 3.410| 3.40 4.21 3.481
2108 (MN—#) 38 2 5 4 7 5 7 8 0 0 5.2 18.4 28.9| 0| 334 3410 3.38 4.60  3.467
A-143 (MNGEH#) 0
(Zoft—#%)| 35 4 7 4 7 3 4 6 0 0 11.4 31.4 42.8/ 0| 337  3.452| 341 397  3.501
5 FR B8R 30 ¢oftcH) 9 1 2 1 2 2 1 0 0 0 11.1 33.3 444/ 0| 334 3413 338 355  3.464
ne 5 0 2 01 0 O 1 1 O 0.0 40.0 40.0/ 0| 3.36 3.460| 3.37 4.60 3.477
BRix 2154 AL 16 12 3 2 0 3 2 30 6.2 18.7 37.5 0 3.35 3.390| 3.39 4.87 3.465
57i% AR 8 2 2 1 0 0 1 1 1 O 25.0 50.0 62.5| 0| 3.34 3.435] 3.38 3.75 3.465
L5 9 1. 0 0 4 1 1 2 0 O 11.1 11.1 11.1}] 0| 3.36 3.450 3.38 4.66 3.466
AR 5719 8 8 5 110 4 2 0 33.3 47.3 614 2 3.28 3.377| 3.35 3.29 3.462
3707 (MN—#) 26 13 5 2 3 1 1 1 0 0 50.0 69.2 76.9| 2| 328 3377 3.33 226  3.429
A-91 (MNGE#) 0
(Zoft—#%)| 25 4 3 6 2 0 7 2 1 0 16.0 28.0 52.0/ 0| 330 3.416] 3.38 4.00  3.498
e B 40 (=oftc#®)| 6 2 0 0 0 0 2 1 1 0 33.3 33.3 33.3| 0| 332 3.394| 337 4.83  3.453
mea 7 4 1 0 0 0 1 1 0 O 57.1 71.4 71.4 0| 3.32 3.371] 3.33 2.71 3.412
ERIx 37HA FRERIG 6 1. 0 0 0 0 1 1 3 O 16.6 16.6 16.6/ 0, 3.31 3.421| 3.39 6.33 3.504
25i% AR i0 0 1 2 2 0 1 2 2 O 0.0 10.0 30.00 0| 3.28 3.406| 3.33 5.20 3.440
L% 22 10 3 2 1 1 1 3 1 O 45.4 59.0 68.1) 1| 3.29 3.369| 3.34 3.00 3.430
Azt 64 3 4111416 410 2 0 4.6 109 28.1 0| 3.31 3.399 3.35 4.53 3.461
2821 (MN—#) 23 0 1 5 8 6 1 2 0 0 0.0 4.3 26,00 0/ 331 3.399| 3.33 430  3.433
A-39 (MNG#)| 4 0 0 0 0 0 0 4 0 O 0.0 0.0 0.0/ 0/ 334 3463 337 7.00 3.482
(zoft—#%)| 28 1 2 5 5 10 3 2 0 0 3.5 10.7 28.5| 0| 334 3415 3.38 435  3.488
7 HE BT S0 ofe#) 9 2 1 1 1 0 2 2 0 22.2 33.3 44.4| 0| 331  3.413| 334 455  3.442
mea 14 1 0 4 O 4 2 2 0 7.1 7.1 35.7, 0] 3.32 3.406| 3.33 5.14 3.430
ARtz 28HA REBI 0
4475% AR 27 0 4 6 1 4 2 6 4 0 0.0 14.8 37.00 0| 3.30 3.395| 3.33 5.03 3.427
LB 17 2 3 0 3 3 1 5 0 O 11.7 29.4 29.4) 0| 3.28 3.367| 3.31 4.47 3.406
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* 6 L—A —fizik HETFE (21:25)
ERES. 2E5Y L—Rm R AR
# 7 BT & AR 2 = 2i <IN BE Ty
R i @ @ ® ® W : HE Y BE BEE  EAY
Al 17 1 0 1 0 2 210 1 O 58 58 11.7 O 6.11
2528 (MN—f%) 14 1 0 0 0O 1 2 10 0 0 7.1 7.1 71 0 6.28
B-73 (MNG#)| 0
Zoft—#) 3 0 0 1 0 1 0 0 1 0 0.0 0.0 333 0 5.33
1 =il BER 0| (zofsci) 0
1= 0
ERizx 2588 RERIE 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
497% AR 5 0 0 0110 1 2 O 0.0 0.0 0.0 O 6.40
P 5 0 0 0 0 1 3 1 0 O 0.0 0.0 0.0 O 6.00
Al 5 0 1 0103 00O 00 200 200 O 4.80
2716 MN—#) 4 0 0 0 1 0 3 0 0 0 0.0 0.0 00/ 0 5.50
B-61 (MNG#)| 0
Zoft—#) 1 0 1 0 0 0 0 0 0 0 0.0  100.0  100.0/ 0O 2.00
A 25K Bk 10 (=ofteH) 0
nme 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
A 278A REE 5 0 0 0 01 3 0 1 0 0.0 0.0 0.0 O 6.20
477% AR i5 4 7 1 1 0 2 0 0 O 26.6 73.3 80.0/ O 2.46
P 2 0 0 0 1 1 0 0 0 O 0.0 0.0 0.0 O 4.50
Al 16 1 3 1 2 5 4 0 0 O 6.2 250 31.2| O 4.18
2615 (MN—#%) 12 1 2 1 1 4 3 0 0 0 8.3 25.0 333 0 4.16
A-201 (MNGE) 0
Zoft—#) 4 0o 1 0 1 1 1 0 0 0 0.0 25.0 25.0, 0 4.25
3 hE| S 20 (RoftcH) 0
nme 4 2 0 2 0 0 0 O O0 O 50.0 50.0 100.0f O 2.00
BRIz 265H REZAIE 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
49i% AR 4 0 2 1 0 0 1 0 O O 0.0 50.0 75.00 0 3.25
P 4 0 1 0 1 0 2 0 0 O 0.0 25.0 25.00 0 4.50
fRix 5 000011300 00 00 00O 6.40
3603 (MN—#%) 4 0 0 0 O 1 1 2 0 0 0.0 0.0 0.0 0 6.25
B-77 (MNGE#%) 0
Zoft—#) 1 0 0 0 0 0 0 1 0 0 0.0 0.0 00/ 0 7.00
‘N tRTE £ 30 (=oftc®) 0
ne 2 0 0 2 0 O O O 0 O 0.0 0.0 100.00 O 3.00
LB 3658 REE 0
235% SEA 6 0 0 1 1 0 2 2 0 0 0.0 0.0 16.6/ 0 5.50
LB 15 1 3 5 2 4 0 0 0 O 6.6 26.6 60.0 0 3.33
ARz 18 1 0 1 2 45 4 10 55 55 11.1 0 5.44
2108 (MN—f%) 10 0 0 0 1 3 3 3 0 0 0.0 0.0 00/ 0 5.80
A-143 (MNGE) 0
Zoft—#) 5 o0 0 0 1 1 2 0 1 0 0.0 0.0 00/ 0 5.80
5 FHMEBWR 30 @ofte® 3 1 0o 1 0 0 0 1 0 0 33.3 33.3 66.6) 0 3.66
ne 1 0 0 0 0 0 O1 0 O 0.0 0.0 0.0 O 7.00
ERix 21HA REE 2 0 0 0 1 1 0 O 0 O 0.0 0.0 0.0 O 4.50
57i% AR 3 0 1.0 1 0 O O 1 O 0.0 33.3 33.3] O 4.66
1P 8 0 1 3 1 2 1 0 0 O 0.0 12.5 50.0/ O 3.87
Al 15 4 3 3 1 3 1 0 0 0 26.6 46.6 66.6) 0 2.93
3707 (MN—#%) 7 2 0 3 1 1 0 0 0 O 28.5 28.5 71.4| 0 2.85
A-91 (MNG#)| 0
Zoft—#) 5 2 2 0 0 1 0 0 0 0 40.0 80.0 80.0/ © 2.20
2R B 40 (ofte#®)) 3 0o 1 0 0 1 1 0 0 0 0.0 333 333 0 4.33
ne 2 1 0 0 0 0 1 0 O O 50.0 50.0 50.0/ O 3.50
ARt 37HA R 4 0 3 1 00 0 0 0 O 00 750 1000 O 2.25
25i% AR 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
L% 6 6 0 0 0 O O O O O] 100.0 100.0 100.0| 1 1.00
Azt 22 3 3 5523100 13.6 272 500 O 3.59
2821 (MN—f%) 13 3 1 4 1 2 1 1 0 0 23.0 30.7 61.5 0 3.38
A-39 (MNG#)] 1 0 0 0 1 0 0 0 0 O 0.0 0.0 00/ 0 4.00
(zoft—#%)| 4 0 2 0 2 0 0 0 0 O 0.0 50.0 50.0/ 0 3.00
7 $8UE BB S0 @oftc®)| 4 o 0o 1 1 0 2 0 0 0 0.0 0.0 250, 0 4.75
ne 3 0 0 0 01 2 0 O O 0.0 0.0 0.0 O 5.66
Bz 28 REE 0
4475% AR 6 0 1 3 2 0 0 0 0 1 0.0 142 57.1] 0 3.16
LB 7 2 2 0 0 2 0 1 0 O 28.5 57.1 57.1] 0 3.28
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* 6 L—A —fizik FEFPE (21:25)
ERES. 2ESY L—RI5HI AR
B V. BF4. B ¥ = 25 iy
LERES @ @ @ & ® @ B g HH HE £V HE ER LAY

ARiR 8 1. 0 00 114 1 0 125 125 12.5 0 6.00

2528 MN—#) 4 1 0 0 0O 0 1 2 0 0 25.0 25.0 250 0 5.25
B-73 (MNGE) 0

Zoft—#) 4 0 0 0 0 1 0 2 1 0 0.0 0.0 0.0 0 6.75
1 =il BER 0| (zofsci) 0
e 0
ARix 2588 REE 0

497% AR 4 0 0 0 0O O 0 2 2 O 0.0 0.0 0.0 O 7.50
LLIF% 0

Al 2 0 0 000 1010 o0.0 00 00 O 7.00

2716 (MN—%) 1 0 0 0 0 0 1 0 0 O 0.0 0.0 0.0 0 6.00
B-61 (MNGE) 0

(ZOf—A%) 1 0 0 0 0 0 0 0 1 0 0.0 0.0 0.0 0 8.00
A iRk BR7R | 10| (zoftc#)) 0
e 0
AR 2784 REE 0

477% AR 9 1 1 1 1 1 2 2 0 O 11.1 22.2 33.3] O 4.55

P 2 0 0 1 1 0 0 0 0 O 0.0 0.0 50.0/ O 3.50

fRix 8 04 2011000 00 500 750 O 3.12

2615 (MN—#) 5 0 2 2 0 0 1 0 0 0 0.0 40.0 80.0/ © 3.20
A-201 (MNGE) 0

(oft—#%) 3 0 2 0 0 1 0 0 0 O 0.0 66.6 66.6| 0 3.00
M MHE S 20 2 (=ofte®) o

nme 3 0 0 1 0 1 0 1 0 O 0.0 0.0 33.3] O 5.00
BREX 2654 REE 0

497% AR 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.0f O 2.00
LLIF% 0

Al 1 0 0 00 0010 0 0.0 00 00 O 7.00
3603 (MN—H#%) 0
B-77 (MNGE#%) 0

(ZOf—A%) 1 0 0 0 0 0 0 1 0 O 0.0 0.0 0.0 0 7.00
N RTE £ 30 (eofte#)| o0
na 0
LB 3658 REE 0
237% R 0

L5 7 0 0 1 2 2 2 0 0 O 0.0 0.0 14.2] 0 4.71

Al 13 0 0 00 2 6 3 2 0 o0.0 0.0 00 O 6.38

2108 (MN—#) 8 0 0 0 0O 2 5 1 0 0 0.0 0.0 0.0 0 5.87
A-143 (MNGE) 0

(zoft—#%)| 2 0 0 0 0 0O 0 2 0 O 0.0 0.0 0.0 0 7.00

5 FR B8R 30 ¢oftcH) 3.0 0 0 0 0 1 0 2 0 0.0 0.0 0.0, 0 7.33
na 0
ARt 2154 REE 0

57i% AR 2 0 0 0 1 1 0 O O O 0.0 0.0 0.0 O 4.50

1P 3 0 0 0 01 1 1 0 O 0.0 0.0 0.0 O 6.00

Al 11 4 1 1 3 1 0 0 1 0 36.3 454 545 0 3.09

3707 (MN—#%) 6 2 1 1 1 1 0 0 0 O 33.3 50.0 66.6] 0 2.66
A-91 (MNGE) 0

(oft—#%)| 3 1 0 0 2 0 0 0 0 O 33.3 33.3 333 0 3.00

i8R B 40 (ofte#®)) 2 1 0 0 0 0 0 0 1 0 50.0 50.0 50.0/ 0 4.50

ne 11 0 0 0 0O 0 0O O O] 100.0 100.0 100.00 O 1.00

ARt 37HA {28 1 1.0 0 0 0 0O O O O 100.0 100.0 100.0/ O 1.00

25i% AR 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0/ O 3.50

L% 5 2 1 0 2 0 0 0 0 O 40.0 60.0 60.0, O 2.40

Azt 4 0 0 1 0210 0 O 0.0 0.0 25.0 O 4.75

2821 (MN—) 1 0 0 0 0 0 1 0 0 © 0.0 0.0 00/ 0 6.00
A-39 (MNGE)| 0

(oft—#%) 2 0 0 1 0 1 0 0 0 O 0.0 0.0 50.0, 0 4.00

7| PBlE BEIT S0 (zoftcE) 1 0 0 0 0 1 0 0 0 O 0.0 0.0 00 0 5.00

ne 4 0 0 O 0 0 2 O 0.0 0.0 0.0 O 6.50
ARtz 28HA REE 0

4475% AR 2 0 0 01 0 0 0 1 O 0.0 0.0 0.0 O 6.00

LB 2 0 0 0 0 2 0 0 0 O 0.0 0.0 0.0 O 5.00
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